

САБИРАК ЗАМЕЊУЈЕМО ЗБИРОМ

1. Замењуј други сабирак збиром као у првом примеру и рачунај.

$$\begin{array}{r} 3 \quad 1 \\ \vee \quad \vee \\ 7 + 4 = 7 + 3 + 1 = 10 + 1 = \underline{\quad} \end{array}$$

$$\begin{array}{r} 4 \quad 2 \\ \vee \quad \vee \\ 6 + 6 = 6 + 4 + 2 = \underline{\quad} + \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{r} 3 \quad 3 \\ \vee \quad \vee \\ 7 + 6 = 7 + \underline{\quad} + \underline{\quad} = \underline{\quad} + \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{r} 4 \quad 1 \\ \vee \quad \vee \\ 6 + 5 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad} + \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{r} 1 \quad 2 \\ \vee \quad \vee \\ 9 + 3 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad} + \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{r} 2 \quad 2 \\ \vee \quad \vee \\ 8 + 4 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad} + \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{r} 1 \quad 4 \\ \vee \quad \vee \\ 9 + 5 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad} + \underline{\quad} = \underline{\quad} \end{array}$$

2. Сад рачунај брже

$$\begin{array}{r} 3 \quad 3 \\ \vee \quad \vee \\ 7 + 6 = 10 + 3 = \underline{\quad} \end{array}$$

$$\begin{array}{r} 2 \quad 5 \\ \vee \quad \vee \\ 8 + 7 = \underline{\quad} + \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{r} 1 \quad 3 \\ \vee \quad \vee \\ 9 + 4 = 10 + 3 = \underline{\quad} \end{array}$$

$$\begin{array}{r} 2 \quad 3 \\ \vee \quad \vee \\ 8 + 5 = \underline{\quad} + \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{r} 1 \quad 1 \\ \vee \quad \vee \\ 9 + 2 = \underline{\quad} + \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{r} 6 \quad 2 \\ \vee \quad \vee \\ 4 + 8 = \underline{\quad} + \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{r} 2 \quad 4 \\ \vee \quad \vee \\ 8 + 6 = \underline{\quad} + \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{r} 7 \quad 1 \\ \vee \quad \vee \\ 3 + 8 = \underline{\quad} + \underline{\quad} = \underline{\quad} \end{array}$$